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I include the son since he stands in his father’s stead to be T¥9°2 her
and for an inheritance field

Overview

The Xn»72 teaches us that an ¥"V serves the son of the master (if the master died),
but not the brother of the master. The reason given is because the son is closer to
the father (than a brother) since aNAR 7Y 779°%2 YAk non ap 19w, Our MdOIN
explains the meaning of 71X 77w and why the Xn»72 did not mention a different
reason.

- Y909 YpW 733 >3 1IN ¥1 %3 NN PANNN NTY YITHNN DI0NPA Y
''w9 explained, one who is W 7TpP» a 1R 77w, he redeems the field from w7pn at

the rate of one @"¥w "7 ¥=1 noa for fifty silver av»pw -
- 293199 NPSNNN 923 NPYN P ARYPY “INNY 93130 1991 ANTE XY ON)

And if the owner did not redeem it and the treasurer of w7777 sold the field to
another person [the owner can no longer redeem it], so when the field leaves

the possession of the buyer on %2, it is divided among the 21715 (and they keep

the field). This law is valid if the field was bought by anyone (even the brother) besides the son -
= ©%195 PHNNNY D212 1791 NNKY NN 921NN 790 YWITPNRN JY 192 ANPY DN YaN

However if the son of the w7p» bought this field from the hand of the =213, it

does not leave the son’s possession to be divided to the 2°1772 on 2 -
- 125 XYY 9NN YIRY NTUN NN 991 ON) 29N

Because it is written, ‘and if the 7213 sold the field to another person’ then it

! 779" refers to the law of T1v° that the master of an 7727 7nX can take her as his wife, or he can marry her off to
his son (without paying additional w17 703)..

2 A 7MnR 717 s an inherited field that was in the family from the time ywi7 divided 9% 79X to the X" 212 (as
opposed to a mpn 77w which is a field a person purchased [and must return it to the owner by 92r]).

> A s a (thirty 7X0). A ™ 1ww 1 ¥77 1*2 is the size of a field where one can sow a 1 of ™YW (barley).
The size of one X0 N2 is fifty by fifty KR (or twenty five hundred square nX). A 710 n°2 (thirty 7X0) is seventy
five thousand square N (or roughly a field that is 273x273 ninR).

* This is the redemption fee if he redeems it right after %av; for every succeeding year it is reduced by about one pw
(so if he redeems it ten years after 21 he pays (about) forty 2°opw).

* wpn may not have any use for the field, it is simply something which is donated to wps, so w7pa will have
money. Either the owner will redeem it, and if not, w7pn sells it to the highest bidder and keeps the money.

® The n"a7 Mt amends this to read, T IRYW IMTD2 212° 1R N NS (instead of 71 ARYPWD IMRY).

7 Just as when a person buys a field it is only his until %21 (when it goes back to the seller), the same is if someone
buys it from w7pn, it returns to Wp; i.e. the 0°172 (of that wn).

¥ See X3 ,15 ["mpna] X P, which states, SN{IX MR 1752 0T ATY2 TR WP 352 XY A7RT M.
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goes to the 0°3710 on 221, but not if he sold it to the son of the w>7pn. In this case it
remains by the 73, just as if the father was 17719 it where it remains by the father. This law applies
only to the son, but not to the brother. If the brother purchased the field from w7pn, it is XX
%212 o°379%. This is the advantages of a son over a brother. '

nooIN asks:
- 2ANY 019 137 75N 199 MNP XY ININ VINN ON)

And if you will say; why does not the X713 say to him (the questioner), that the

inheritance of the son precedes the inheritance of the brother. When there is a son
only the son inherits not the brother. That is how we know that a son is closer than a brother.

N1B0IN answers:
- 122 97309 Y95 NN 1735997 1930 KON 2PUN RYT 9115 U9

And one can say; that the X712 does not consider only these advantages that are

not at all by the brother but are by the son -
1119 12 PRY DYPHA AN 1) NIPN NN YaN

However inheritance can also be by the brother, in a case where there is no
son or daughter.

Summary
The X713 cites advantages that only the son has like AR 770 W>7p©) 7.

Thinking it over
Why was it necessary for n1901n to cite "0 before asking his question?'*

1% There can be another interpretation of 7MMX 77Y in a case where the father sold his 710X 77w; the rule is that the
closest relative can redeem the field from the buyer. The 2109 in 773,72 (772) XIP™ reads, K23 INJORA 1231 AR 792 23
PN 2178 DR YRICIPHR 2095 1981 We interpret 217977 to mean the closest relative (the son) has the first right to redeem.
However maoin ignores this explanation and chooses s""w1 instead, as will become clear when we see nmsoIn
answer to the following question (see footnote # 13).

" This would seem to be a much simpler proof that a son is closer to his father than a brother is.

2 11y and 710K 77w 070 from wTpA (where it is not 237157 X¥1) can only be by a son, but not by a brother.

" This is also the reason n201n did not use the alternate explanation (see footnote # 10) since 72 can also be done
by the brother, if the son is not X,

' See nov nmyy.
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